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Abstract: Combining formulas of quantum mechanics (QM) and the wave theory defines the 
diameter of a wave packet of circularly polarized light. This allows the calculation of the energy 
loss (red shift), if light traverses a thin plasma. In contrast to the Doppler effect, the total energy is 
conserved, also basic emission- and absorption-line physics is preserved.  

Introduction
What is light? Depending on the experimental set-up visible light may be interpreted either as a 
wave phenomenon with interference phenomena or as a swarm of tiny photons that causes tiny hits 
on photosensitive material. Each of the two models can explain certain observations well, but fails 
in others. None can explain all observations consistent. Nevertheless, both describe the same 
physical phenomenon light. A combination of the formulas of QM and wave theory could be the 
key to a unified model.

Particularly interesting is the case, when low-energy photons are emitted from isolated, undisturbed 
atoms and can be received only as electromagnetic waves with dipole antennas. No photon detector 
responds to the spectral line of hydrogen at 1420 MHz. According to QM, the photon is circularly 
polarized and transports the energy 5.87433 μeV. The same must be true for the electromagnetic 
wave.  The half-width of this HI line1 is very short (only Δf ≈5kHz ) and from the formula

Δλ⋅L≈ λ2 results a coherence length of about L≈60km≈280⋅103 λ . It is unclear, how a point-
like photon is transformed into this remarkably long wave packet. 

The receivers of radio astronomy are built on to the same principles as radios. The hardware is 
sensitive only to electromagnetic waves, nothing depends on QM. Where and how a photon con-
verts into an electromagnetic wave?

In classical context there are no photons, just electromagnetic waves described by solutions of 
Maxwell's equations. In case of a linear polarized wave, the amplitude is usually described with a 

formula like A=A0sin (2 π f (
x
c
−t)+φ) without limiting the allowable values of x and t. While 

this is mathematically convenient and simplifies the work, it describes an infinitely extended wave 
with infinite energy content. This wave has no clearly defined position, it spreads over the whole 
universe. Thus, it can not describe the emission of a defined amount of energy in atomic processes2. 
This energy is released at a certain time (quantum leap) and can be registered later by a remote 
detector, if the direction is right. An infinitely extended wave should be measurable in the imme-
diate vicinity of the source and at any location of the universe simultaneously. This is contradicted 
by the experimental experience. For this reason, a wave packet of finite extension is assumed, 
propagating at the speed of light. Only if the integration volume is limited, the electric field strength
E can be measured and is not infinitesimally small. 
 
When we move from classical to quantum physics, we add the notion of photons to describe the 
experimentally observed phenomenon that light, regardless of its intensity, transfers energy in 
discrete chunks. Why should we expect classical mechanics to apply to something that was devel-
oped to explain a quantum phenomenon that has no classical counterpart?
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The view that light is an electromagnetic wave describes 99.9% of all properties you will ever 
encounter with light, including diffraction, refraction, reflection and Doppler effect. It is only when 
you look into how light interacts with matter that the "particle" properties come into play.
 
It turns out that EM waves only interacts with matter in specific amounts of energy at a time, an 
amount that depends on the frequency of the wave. The higher the frequency the higher the energy 
that the wave interacts with. This "packet" of energy is what we call a photon. This is different than 
the situation in a classical, infinitely extended wave, in which energy is transferred continuously, 
not in packets. In the range of visible light, a wave packet is typically 6 m long, corresponding to 
106 oscillations. During absorption it transfers its energy within only 20 ns. In most experiments, 
this corresponds to a time-point, which is interpreted as the impact of a particle called photon.

Linking the formulas for momentum and energy density
Electromagnetic waves and photons have the (linear) pulse p⃗ , whose direction coincides with the
direction of propagation. Limiting to the amount of the pulse, in QM the formula

p=
h
λ
=

h f
c

(1)

describes a single photon. This formula contains no indication for the volume of a photon, so far 
there are no corresponding measurement results. From the perspective of the electromagnetic waves
is amazing that the QM makes no distinction between near and far field, ie ignoring the distance 
between the radiation source and observation. That may be the missing link. For an electromagnetic
wave

p⃗=ε0∫
V

E⃗×B⃗ dV =ε0 µ0∫
V

S⃗ dV (2)

holds, where S⃗ is the Poynting vector. In the near field, the relationship between E⃗ and B⃗ is 
location-dependent, difficult to describe, and completely different than in the far field. Only at large 
distances from the source, ie in the far field, E⃗ and B⃗ are proportional and always include a 
right angle, the momentum is pointing in the direction of propagation. Therefore, far away from the 
source, the formula can be simplified

p=
ε0

c
∫
V

E2 dV (3)

A wave packet carries exactly the amount of energy, which is calculated by QM

h f =ε0∫
V

E2 dV (4)

A calculation using the energy density u=ε0 E2 has the same result. A key element of this formula
is the spatial extent and the volume of the wave packet. At this point it should be noted that the 
conventional representation of a wave is very problematic: In case of a linear polarized wave, the 
amplitude is usually described with a formula like

A=A0sin (2 π f (
x
c
−t )+φ) (5)

without limiting the allowable values of x and t. While this is mathematically convenient and sim-
plifies the work, it describes an infinitely extended wave with infinite energy content. Thus, it can 
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not describe the emission of a defined amount of energy in atomic processes3. Only if the inte-
gration volume is limited, the electric field strength E can be measured and is not infinitesimally 
small. For this reason, a wave packet of finite extension is always assumed.

Linking the formulas for the angular momentum
Since the experiments of Beth4 it has been known, that a circularly polarized plane wave of light 
does carry angular momentum. In QM, each photon has the spin

s=h /2π (6)

that is oriented parallel to the direction of propagation. The angular momentum of the 
electromagnetic field is calculated by integration over the total volume of the wave packet

J⃗ Classic=ε0∫
V

r⃗×( E⃗×B⃗)dV=ε0 µ0∫
V

r⃗× S⃗ dV (7)

The use of the Poynting vector S⃗ simplifies this formula a little bit. It should be noted that the 
spin of the photon and the classical angular momentum are related by the formula

J Classic=√2⋅s (8) 

In the far field, the wave packet of a circularly polarized electromagnetic wave is rotationally sym-
metric and a finite sequence of planar, circular wave fronts of finite extent transverse to the wave 
vector. The local area power density S=ε0 c E 2 may have a different value at any point of the 
wave packet.

A cylindrical wave packet
Since a circularly polarized wave can not be a spherical wave, the wave packet must have a pre-
ferred direction of propagation. This is identical to the photons's direction of flight. After scattering, 

an approach like Ψ ∝e i k⃗ r⃗
+ f (θ)

e i k r

r
 must lead to false results, because there is no outgoing 

spherical scattered wave. The second difficulty is that the approach is a stationary state wave 
function. This would be appropriate for a bound state system in which nothing is happening. In a 
scattering experiment, by definition, something is happening. There must be a time dependence!

Each wave packet has a limited length, but the course of the intervening envelope is unknown. 
Common but unproven assumptions are bell-shaped and exponential decay of the amplitude. 
Hereinafter, it is assumed the wave packet is a cylinder of radius R and length L, whose axis of 
symmetry coincides with the direction of propagation. The two integrals for momentum and total 
energy and angular momentum of the wave must have finite values. The intensity of the wave has 
the constant value S everywhere in the interior of the cylinder and is zero outside. The calculation 
with cylindrical coordinates is very simple and leads to

J =ε0 µ0 S∫
0

L

∫
0

R

∫
0

2π

r2 dz dr dφ=
2π
3

ε0 µ0 S L R3
=

2π ε0 E2 L R3

3c (9)

Since QM and electromagnetic waves describe the same physical phenomenon, one can equate the 
formulas for the angular momentum, which leads to 
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3√2hc=4π 2 ε0 E2 L R3 (10)

From the formulas of the energy follows

h f =ε0∫
V

E2 dV =ε 0 E2 π R2 L (11)

The equations (10) and (11) are conserved quantities of a cylindrical wave packet, from which one 
can calculate the radius5

R=
3√2 c
4 π f

=
3√2 λ

4 π
≈0.338⋅λ (12)

As long as the wave packet is undisturbed, the angular momentum, the energy hf and the radius R 
are constant. Usual receiving antennas confirm this value: λ/2 dipoles correspond approximately to 
the calculated diameter of a wave packet. Shortened dipoles cover only a fraction of the cross-sec-
tional area of the cylinder and withdraw less energy from the wave packet. Extended dipoles hardly 
bring additional gain, because the parts far outside radiate more energy than they absorb. 

In a waveguide of circular cross-section,
the cutoff wavelength of the dominant

mode TE11  is given by λc=
2π R
1.841

.

An electromagnetic wave with a longer
wavelength than λc will attenuate,
rather than propagate. The resolution of

the equation R=
1.841 λc

2π
≈0.293⋅λc

shows that the minimum diameter of the
waveguide corresponds approximately to
the diameter of a wave packet. The
deviation is due to the conductive metal
walls6. If the wavelength is reduced to
visual light and the waveguide is very
short, the experiment shows maximal
transmission if the diameters of the hole
and the wave packets match. Perhaps,
the diameter of the wave packet is also a
hint for the design of photo diodes. 

The length of the wave packet
The above formulas contain no indication of the length of the wave packet, which is why the 
coherence length L is used. Depending on the line width of the spectral line, L assumes values from 
the range 102

⋅λ<L<108
⋅λ . Shorter wave packets should be treated differently, because the 

strong sideband frequencies can't be neglected. For sufficient long L, the energy density

u=
8π h f 3

9c2 L
(13)

and the electric field strength

Transmission cross section of a cylindrical hole in a 
perfect-metal slab as a function of the hole radius. The 
incidence of the light is perpendicular to the slab.
(From 6 )
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E2
=

8π h µ0 f 3

9 L
(14)

of the cylindrical wave packet are calculated. The value of the coherence length effects none of the 
subsequent results and may be selected as desired. The natural line width of optical spectral lines is 
very low when surrounding atoms do not interfere.

Examples: The natural line width of the sodium D-line is about 10 MHz. Each wave packet contains
about 107 oscillation periods, is 6 m long and carries the energy hf. At a wavelength of 600 nm, the 
wave packet is a very thin cylinder with 400 nm diameter and 6 m in length. The electric field 
strength inside the wave packet is about 226 V/m.

The HI-line of hydrogen at 1420 MHz has a half width of about 5 kHz. The distance between the 
hydrogen atoms in the gas cloud is so large that independent wave packets are generated. The 
formula Δλ⋅L≈ λ2 gives a coherence length of 60 km and a volume of 960 m³. The energy density
is very low and the electric field strength is only 10-8 V/m. Under optimal conditions, each wave 
packet induces a voltage of 10-9 V in a λ/2 dipole. This is below the detection limit of radio tele-
scopes, so a signal can only be registered when the amplitudes of several wave packets add up. This
is obviously not a problem, given the large coherence length.

In the X-ray range the wavelength is at 1 pm, the coherence length shrinks to L≈1000 λ and the 
electric field strength increases to about 1016 V/m. This means that all atoms can be ionized.

The red shift at low energy loss 
A right-circularly polarized wave has the two components

(
E x

E y

E z
)=E0(

−sin(ωt)
cos (ωt )

0 ) and (
Bx

By

B z
)=B0(

−cos (ωt)
−sin(ωt )

0 ) (15)

The Poynting vector

S⃗=
1
µ0

E⃗× B⃗=
E0 B0

µ0 (
0
0
1) (16)

is constant, pointing in the direction of wave propagation and has the value

S=
8π h f 3

9 c L
(17)

L is the length of the wave packet. Because the wave packet carries finite energy, the field strength 
and the magnetic field are zero outside the period 0≤t≤L/c .

On the way from a distant gas cloud to Earth, the light passes through the interstellar medium 
(ISM), a "warm ionized gas" temperature of 8000 K, about 20% to 50% of all atoms are ionized. 
With the help of radio astronomy, the mean density of free electrons of 4∙105 per m³ was calculated, 
resulting in an average distance of electrons of d ≈ 14 mm7 8. In the intergalactic medium (IGM), the
average distance is estimated to be much longer. 



Each unbound electron that is "touched" by the wave packet, scatters a tiny amount of energy

e1=σ Elektron ∫
0

L/c

S dt=σ Elektron
8 π h f 3

9 c2 (18)

where σ Elektron=6.65⋅10−29 m2 is the classical scattering cross section of the electron. At low 
frequencies, e1 is much lower than the wave packets total energy hf. That does not contradict 
Planck's theory. Only if a physical system can oscillate harmoniously, the smallest possible change 
of energy is ΔA=hf . An free electron is not trapped inside a potential well and is therefore no 
oscillator with defined energy levels. In the electric field of the surrounding positive Ions, it 
experiences no restor  ing force into a rest position. An electron is a structureless elementary particle 
without excited states. For all these reasons, a free electron can not store the energy of a whole 
photon and radiate it later. But the electron may be accelerated and radiate without any delay and 
symmetrically like a dipole, as shown in the picture. 

In the range of X-rays, the frequencies are very
high and the scattering cross section of an
electron and the cross-section of the WP be-
come comparable. Under these circumstances, 
Compton scattering occurs and for very small
angles θ≈0 , the shift in wavelength is very
small and the energy loss of the scattered
photon is much smaller than hf. Hence, inde-
pendent of the frequency, an unbound electron
can take away an very small amount of energy
from the photon and emits exactly the same
amount immediately. 

The contention9 "When photons travel through
any transparent medium they are continually
absorbed and re-emitted by the electrons in the
medium." is untenable, justified by nothing. Above all, the fact is overlooked that the electron has 
no memory and does not remember the direction of the incoming photon. If the electron would emit
a photon later, the angle should be arbitrary and independent of the direction of the absorbed 
photon. Independent of the frequency, this idea ignores the recoil energy of the electron and contra-
dicts Compton scattering.
 
Below it is shown that the tiny energy loss reduces the frequency of the wave packet. At a frequen-
cy of 1420 MHz, no electron can absorb all the energy of the wave packet because the apparent 
cross-section much, much smaller than the cross-sectional area of the wave packet (≈ 0.016 m²). For
this reason, the electron can not scatter the wave packet and change its direction.

If the wave packet comes from the distance D, traversing a region with the average electron density 
ne, it affects

N=ne(3√2c
4 π f )

2

π D (19) 

electrons. All those electrons reduce the energy of the wave packet by the energy

The electric field of a vertical polarized wave 
packet accelerates an electron, which radiates 
energy like a dipole antenna. 
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A=N e1=ne(3√2c
4 π f )

2

π D σ Elektron
8π h f 3

9c2
=ne σ Elektron h f D (20)

Because every electron radiates symmetrically, as shown in the picture for a vertically polarized 
electromagnetic wave, the wave packet undergoes no transverse momentum, its direction is not 
changed.

Reduced electric field strength or reduced frequency?
For small distances, the condition A≪hf is satisfied and it can be assumed that the diameter of 
the wave packet is constant. Before the wave packet touches the free electrons, the above derived 
two formulas

3√2hc=4π 2 ε0 E1
2 L1 R1

3 and h f 1=ε0 E1
2 π L1 R1

2 (21)

apply. After the wave packet has passed all the electrons and lost some energy, the two formulas

3√2 h c=4 π 2 ε0 E 2
2 L2 R2

3 and h f 2=ε0 E2
2 π L2 R2

2 (22)

apply. These four equations must be satisfied to conserve energy and angular momentum of the 
wave packet.

• From the classical point of view, any energy loss is equivalent to a reduction of the electric 
field strength of the wave packet. The frequency should be constant.

• As QM does not deal with the electric field strength of the wave packet, any energy loss  is 
equivalent to a reduction of the frequency.

QM and classical wave theory contradict each other. What is the solution, since the formulas of both
areas are linked? From the assumption of a constant frequency f 1= f 2 follows R1=R2 and

E1
2 L1=E2

2 L2 . Then neither energy nor angular momentum of the wave packet would change, a 
contradiction to the previously calculated energy loss. That would mean that Thomson scattering 
does not exist - incompatible with the experimental experience. 

If a frequency change is not excluded, the equations (21) and (22) have the solution

3√2 c h( R2−R1)

4 π R2 R1

=h( f 1− f 2) (23)

The frequency decreases, the radius of the wave packet increases. With low energy loss, the relative 
frequency shift has the value

Δf
f

= z=ne σ Elektron D . (24)

This formula satisfies some astronomical observations: 
• z does not depend on frequency or wavelength. Hence, the wavelength ratios in the spectra 

are conserved.
• z does not depend on the coherence length or intensity of the wave packet
• at small distances ( σ Elektron ne D≪1 ), z is proportional to the distance D 
• the decribed effect gives systematic redshifts but not blueshifts. 

In contrast to the Doppler effect, the total energy is conserved. Basic emission- and absorption-line 
physics is preserved.  
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The comparison of the above approximation z=ne σ Elektron D with the Hubble formula
c z=H 0 D yields

c σ Elektron ne=H 0 (25)

Using the currently accepted value of the Hubble constant H 0≈70
km

s⋅Mpc
, the average density of

unbound electrons in vicinity of our galaxy is

ne=
H 0

cσ Elektron

≈
114
m3 (26)

The mean density of free electrons in our own galaxy is 4∙105 per m³ and was derived from existing 
radio and optical observations of H II regions4. 

The calculation of the energy loss in the comparatively much larger Fresnel zones10 leads to a 
similar result. Because of the lower energy density in this huge volume, the calculated factor

w=
3qe

4 µ0
2

512π me
2 =2.33⋅10−30 m2

is smaller than σ Elektron=6.65⋅10−29 m2 and may be neglected.

The redshift at large energy loss 
If the distance or the density of free electrons is very large, the total energy loss increases and the 
condition A≪hf is not met. The radius of the wave packet increases markedly with decreasing 
frequency and the above assumption of a long cylinder with constant diameter is no longer accept-
able. To calculate the total energy loss, the overall Distance D is divided into successive short 

cylinders of length dx=
Δf

f ne σ Elektron
. Integrating both sides and using the definition

f observed (1+z )= f emit , one obtains

D=
ln (z+1)
ne σElektron

. (27)

This non-linear equation is valid for all values of redshift. The assumed Hubble linear relationship 
between redshift and distance is only an approximation for z≈0 .  
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